
Q1) Attempt any Five of the following : [5 × 2 = 10]

a) Define defence expenditure.

b) Define defence forces.

c) What is war potential?

d) Define industrial capacity.

e) State the effect of war.

f) What is post war problem?

Q2) Attempt any four of the following : [5 × 4 = 20]

a) Defence budget

b) Indigenisation of armed forces

c) Challenges in defence

d) Industrial capacity

e) Raw material
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain linkages between planning and budget.

b) Explain in new trends in Indian defence expenditure.

c) Explain analysis of defence expenditure since 1998

d) Explain foreig aid as a contributory element of war potential.

e) Explain industrial capacity as a element of war potential.

Q4) Attempt any two of the following : [2 × 10 =10]

a) Explain in detail impact of expenditure on Defence forces.

b) Explain in details challenges in defence and financial management.

c) Explain in detail new trends in Indian defence expenditure.
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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) g§ajU IM© ì¶m»¶m {bhm.

~) goZmXbo ì¶m»¶m {bhm.

H$) ¶wÕ J{V‘mZVm åhUOo H$m¶?

S>) Am¡Úmo{JH$ j‘Vm ì¶m»¶m H$am.

B) ¶wÕmMo n[aUm‘ ñnï> H$am.

’$) ¶wÕmoÎma g‘ñ¶m {bhm.

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) g§ajU IM©

~) goZmXbm§Mo ^maVr¶H$aU

H$) g§ajUmVrb AmìhmZo

S>) Am¡Úmo{JH$ j‘Vm

B) H$ƒm ‘mb
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) {Z¶moOZ Am{U g§ajU IM© ¶mVrb g§~§Y ñnï> H$am.

~) g§ajU IMm©Vrb ZdrZ àdmh ñnï> H$am.

H$) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.

S>) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Mo KQ>H$ ñnï> H$am.

B) Am¡Úmo{JH$ j‘Vm ¶wÕ J{V‘mZVoMm EH$ KQ>H$ ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) g§ajU goZmXbmdarb IMm©Mo n[aUm‘ g{dñVa ñnï> H$am.

~) g§ajU Am{U ’$m¶ZmpÝe¶b ‘°ZoO‘|Q> darb AmìhmZo g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajU IMm©Vrb ZdrZ àdmh g{dñVa ñnï> H$am.
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